


33388

OUs




EEE =

3/20 3/27 3/31 4/2 4/11




35 38
B/S
P/L
C/F
7
>
/\
~ N
<1 4 1 <1 4 1 —_—
><2 3 31 <2 3 31 <1 4 1
=<2 3 31
x1 3 / —L x2 3
p e
=<1 3 3l =2 3 31 e @
-
=<1 3
*x2




>
x> <
> <<
x> <
> <<
XX

> XXX

XXX

>
XX
> < <

> > >

> <>

> <<

> <<

> >

> >

> > <

XXX

> <>

<3< >

>3 >

XXX

> >

> <>
> <>
> <>
> <<
> <>
> < >
> <<
> >
XXX

XXX

> < >
> <X
>
> <<
>
> <>
> <<
> > >

> < >

oo *

10




31

10-1

Q36-9
Qo-1
2
3
4
5
11
39
12




0000000

0

0

13

15 3 5

15 7 10 16 3 29

70

14

2004 3




